
SAMPLE QUESTION PAPER 
 
1.  If 4 men or 6 boys can do a piece of work in 20 days then 12 men and 2 boys will do the same 
work in  
 

 (a) 10 
days 

 (b) 8 
days 

 (c) 6 
days 

 (d) 5 
days 

 
2. The difference between simple interest and compound interest on a sum at 5% in 2 years is 
Rs.2.50. The sum is 
 

 (a) Rs.2500  (b) Rs.2000  (c) Rs.1000  (d) Rs.1500 

            

 
3.  Find the missing number in the following box :- 
 

21 18 15  (a) 26 

24 3 12  (b) 25 

? 6 9  (c) 27 

    (d) 30 

 
4.  Find the odd one out: 10, 14, 16, 18, 21, 24, 26  

 (a) 15 (b) 16 (c) 21 (d) none of these 
 

5. MS Office provides help in many ways. Which of these are more closer to the answer?  

What’s This 
 

Office Assistant  Help Menu  All of the above  

 
6.   _____ system is built directly on the hardware  

A. Environment  
B. System  
C. Operating  
D. None  

 
7. In Excel the formula =A1+A2+A3+A4 can also be written as a function 
 

(a)    =Add(A1:A4) (b)    =Sum(A1:A4) (c)   =Total(A1:A4) (d)    =Agg(A1:A4) 

 
8.  Decimal of 27 (Octet) 
 

(a)    23 (b)    27 (c)   39 (d)    72 

 

 

HOW TO ANSWER 

For each question there are four options given marked as A,B, C and D of which only one is correct 

answer. Select the correct answer and mark that on that on the appropriate circle on the question booklet by 

BLUE/BLACK ball point pen as shown below: 

 
Correct Method: Wrong Method 

A B C D A B C D 

 
 


